40 0Ooooooodod

oboboooocooooooobOobOobobobooboooooooboobobOobobobobonoo
oboooooobOobobobooooooooboobOobobooboooooooboobOobobooon
goooo

41 UJ00O0oobooooooon

411 00OO0ODOOODOODO

OO0 xp(t) D0D0O0DO0ODO0ODOOO0ODO (-T/2<t<T/2)000000000000 XpOOOOO
Perseval DO OO OO

1 (T/2 ® 27
i/  Jrr()de = [~ () Pw (4.1)

000000000 ¥ < |Xr(w))?>0000000000000000000000000

412 ODO0OOOOODOO
0000 [-T/2,T/2]00000000000000000000004100000000000000

oog
Mw:{l(“STm> 4.2)
0 (t| > T/2)

ugbooaboaaogagod

w(t)

~7/2 7/2 ¢

041:0000000

x()00000000000
xr(t) = x(t)w(t) (4.3)
x(t) = X

(
w(t) = W(w)
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O0O000convolutionO O OO

[e¢]
XT(w):/ X(W"YW(w — ')dw’ (4.4)
—o0
000000000000000000000000000000 X(w)O Ww)DOODODODODODOODO
0000000000 Ww)=46w)0DOODODODODDODOODODOOODOODO

sinwT/2
W _ 4.5
(@) =T @5
O0000OW(w)0OD 413000000W(0)=100000000000000000000000000
gooooooooooooooooobooooooooooooooooooooooooooooon
god

\
4.1.3 MATLABUOUOOOUOOOOOOOOOOOOOO
>> t=[-20: .003: 20];
>> plot(t, sin(t)./t)
>> grid on;
>> xlabel(’\omega T/2’, ’fontsize’, 14)
>> ylabel(’boxcar window’, ’fontsize’, 14)
0.4 L L L L L L L
-20 15 10 5 0 5 10 15 20
wT/2
004.1.3
_ J

goooooooooooooooooooooooooooooooooooooooooooboobooon
hanning0 00000000
2
cos?(mtt/T tH<T/2
wit) = {ORHT) (T2 6
0 (|t > T/2)
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[4.1.4 MATLABO hanning 0 0000000 )
>> t=[-0.5: .001: 0.5];
>> y=cos(pix*t)."2;
>> plot(t, y)
>> grid on;
>> xlabel(’t/T’, ’fontsize’, 14)
>> ylabel(’hanning window’, ’fontsize’, 14)
:
0ol i
ol i
07t :
Al i
‘g ol ]
= 0af i
0zl i
it i
85 w4 w3 oz o1 o o1 oz 03 o4 o
t/T
00414
N /)
~
415 000 hanningO0 00000000000
hanning 0 0000000000000 0O0O0O0OO0O0COOO0OOO
Wiw) = % SH(L“T]/Tz/2 1- (wlT/zn)2 (47)
N J

hanmning00000000000O00O0000 416000000000000000000000000
O00000000000hanning00000000000O0COO0O0O0O0O0O0OO0OO0OO0OO0OO0O00O0200

00000O0ow((0)=100000000000000
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41.6 MATLABUO hanning 00O 0OOO0OO0O0OO0000O0D0O0OO
>> t=[-20: .003: 20];
>> plot(t, sin(t)./t./(1-(t/pi)."2),’r’, t, sin(t)./t, ’:?)
>> grid on;
>> xlabel(’\omega T/2’, ’fontsize’, 14)
>> ylabel (*hanning window’, ’fontsize’, 14)
T 15 10 5 . Tu/z 5 10 15 2
dod4.1.6
\ J
41.7 0000000 OO0OOO0OO0OO
0000 TOODOOODODO Ww)OOODODODODOOOOOOOOOO Sr(w)0000O
27
ST(W)IT < [Xp(w)]* >
Sw)OODODDODO0O0DO0OD0O0D00D0O00D0000
_2£ ' N2 l !
Sr(w) = T [W(w — w")]*S(w")dw (4.8)

goooooo
Sr(w)00000000O00O0O0O0O0O0O0 @8ULLO0OD0DDLOU0OLOOOUODOOUOOOLUOODODOO
O0000S(w)=S50000whitenoise) 00 000000000000 OO0

27w [

St(w) = - [W(w — w")[*S(w")dw’
B @ T/2 9
= 2 [ (o 4.9)
= Sgw?(t) (4.10)
gooad
1 1 /T2 17"
e [T /_ (@) dt} (4.11)

0Sr(w)0000000D0DO0O0O0
hanmning 000000000000 0O0O0O0O0O0OO 1/037460000
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41.8 MATLABO hanning 00O O OO0O0O0OO

N

>> t=[-0.5: .001: 0.5];
>> y=cos(pixt)."2;
>> yxy’/size(y, 2)

ans =

0.3746

[
419 O0000hamming00000O

hamming 0000000000000

N\
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4110 MATLABUO hanning 00000000

O000000000000000000MATLAB O periodogram 00000000000 00O peri-
odogram 100000000000000000O0O0O0O0OO0OCOOOOOOOOOOOOOOOO
00000000000000000000000000000000O000O0000D0O0O0hanning
gbooooobooboobooboooobooboooog

>> fs = 300;
>> t = [0: 1/fs: 1];
>> y = randn(1, length(t))+sin(2*pi*t*75);

>> clf;
>> subplot(211), periodogram(y, [],length(y),fs)
>> subplot(212), periodogram(y, hanning(length(y)),length(y),fs)

Periodogram PSD Estimate
0

Power Spectral Density (dB/Hz)
g
T

0 50 100 150
Frequency (Hz)

Periodogram PSD Estimate
0

Power Spectral Density (dB/Hz)

Frequency (Hz)

004.1.10
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42 (JO00oooboboooogd

421 OD0OOOO0OOOO

O0000x(#)0v000000000000000000000000000Ows >2v, 000000
DAt:vl—sDDDDDDDDDDDDDDDDDDDDDDDDD x(nAt) (n=0,£1,4£2,---)00
oooooooooooboo

gbooobooboobooobooboo
0000o0oO0ooOooodhoooo

A= Y 6(t—nat) (4.12)

n=-—oo

ugbooboodgbooobdy bbbl wsOOOO

ws = 2mVs = 2 (4.13)
At
goooooooboon
xs(t) = x(t)d(t) (4.14)
gogoobobobooooon
Xo(w) = [ X(«')D(w — @')deo! (4.15)
1 o & :
D(w) = E/ Y o(t— nAt)eldt
P p=—o00
1 i g~ lwnit (4.16)
271 o
oooooooog
% n;w e — m;wé(x —2ma) (4.17)
x=w,a=7m/At0000
12 & 27
D(w) = P AL n;wé(w - A—tn)
1 [e9)
= & ngmé(w — nws) (4.18)
goo
1 [e9)
Xs(w) = A Y X(w — nws) (4.19)
n=—oo

0000Xs(w)0 X(w)D ws 00000000 0O0DO0O0ODOY >2v, 000000000 v0D00OOO
Oo00o0o0000oDoO0o0oooO0o0ooDoO0o0o0oD0D <2, 0000000000000 DOODO0OO
000Xs(w)0OODODO0DDOO0DO0O00D0D000O0Daliasingd 0000y, 000000000000 ws/2
gboooooooooooobobobooooooboooooooooobobOobobobobobooooo
oood

vs >2v, 0000000000000000DOOCO00DOO00OOO00O0DOOO0ODODO0O0ODOO0ODOOD
goooooovyOOOOOOOOOOOOOOOOOOOOOOO 419000

x(t) = At /:UC Xs(w)e“tdw (4.20)
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oood

Xs(w) = —

27T

ooo
ﬁ e}

1 /°°
271 J -
1 & :

Z x(nAt)e—zwnAt

x(t)d(t)e”wtdt

n=-—oo

x(t) = o Y x(nAt) /wE el wt=nit) g,

n=—oo

At X

:;Z

x(nAt)

n=—oo

gboboobOoboooobobooooboo

43 DFT

—we

sin we (t — nAt)
t —nAt

00000000000 (DFT: Discrete Fourier Transform) 0 0 0 0 0 O

x[n,n=1,2,---,NOOOODOOODOOOO

good

44 FFT

4.21)

(4.22)

(4.23)

(4.24)

(4.25)

(4.26)

(4.27)

(4.28)

FFT(Fast Fourier Transform) 0 DFTO 000000000 0OO0OOCOO0OOOOOCOON =102400
OO0ODFTOO N2~ 10°000000000000FFTOO000 Nlog,N~ 1000000000000

N=2"00000000000oooo
MATLABOOOOOODO FFTOOOOOOOO
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4.4.1

>> X

>> y

y =
6
11
-2
-5

-5
-2
11

>> x
>> vy

11

\_

MATLABO FFT 0O O O

(4, 3, 7, -9, 1, 0, 0, 01’ ;
fft(x)

.0000
.4853
.0000
.48563
18.
.4853
.0000
.48563

. 75741
-12.00001
+11.24261
0000

-11.2426i
+12.00001
+ 2.75741

= [4, 3’
fft(x)

7, -9, 1,0, 01" ;

.0000
.5206
.9623
.4417
.4417
.9623
.5206

- 4.
- 7.

8312i
70591
+13.92041
-13.92041i
+ 7.70691
+ 4.8312i

J

O0OO0OO0OUOUOOOFFTO NOOOOUOOOOOODOO NOOOOOOOOO00O0 @26)000000O0O0
cooboooobOooOooooOooobo0oOoobOO0oooOooOoooOoOOoO0oDOOOOOFFTOOODODOOO
oo0o0o00o0o00ooOoo0ooooo0ooooOooO00obo NOOODDOOOODOOOODO

O41:FFTOOOOOOOOO

N (00000000000 |0000000000000 @000
0o N/2+1 [0, 7]
0o (N+1)/2 [0, )

45 JUduoooogood
oooo
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Oo00o0o0000 NOOOODOOOoooOOoOoooooo
OO030000000000

sampling time : At
total time : T = (N—1)At

sampling frequency : vs = —
451 ODOOOOOOO

000 t, = (n—1)At, n=12,---,N
Jdoddoot, <~ 000000000n—-1
000000000 AtO00000000000000

452 0J0OO0OOOOOO

w _2r(k=1) w; =0, w *Zjl(*Aw) w _ N1
kK=AtT N =5 M= Ay N TN T AN
1 (k—1) 11 1 N-1
= — , :O, :7i:A PR [
KT AN 1 =N EMN N = gy
. 27t(k—1)
00000000w <= 000000000006 = "5
k-1
0000000y <= 00000000000%=

Oo00ooo0o0ooooA00D0OD0O000DOO000DOO00 At=10000000000000000

00000000000 90000 ([0,1)00000000AV0000000000O0O0

46 UUOUOUOLODLDOOOOOOOO
YN |x[])?P000000000Perseval 1000000

N

N 1
; x[n][> =Y N|XD[k]|2

k=1

ooooooo
N

1 ol 2 _ 1 X kZ
N Ll = 1 Xl

D000 TODDD0000000000 &|Xpk[?0000000000000000

oooooO0O0 ¢30oooooooooooooo
N 1 1 N

At
—|Xplk]|2P—Av = Y = |Xplk][*A
1<:21N2| D[”AVV k:ZlN| plk]|“Av
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0000000000000 (PSD: Power Spectral Density) O

At ) C1k-1
gooood pPsbd
l|X K]]%, @b _ k=1 (4.34)
N D ’ k— N .

OOoOooODFTO00DOOO00DOOO000OONOO0ODOOO0O0OODOO0ODOO00DOOOO0OOO0ODOOOD0OOO
0000000 (onesided) 00 000000000000 DOOOOOOOOOOOOOOO NOODOODOO
O0041000000000PSDOOOOOOOOODPSDOOODOOOOO

2At 1k-1
- 1Xp K]]? [1/Hz], @u = N B (4.35)
2 k-1
~ | Xp K%, @i = - (4.36)

oooooopooooooopSboodoooooooooooooo0ooooooooooooooD
OO00O0O0O0O0O0O0O0OD0DDODODODODOOOO Perseval 0000000000 O0O0O0O0O
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4.6.1 MATLABOOOOUOO PSD

>> N=1000; fn=[0: 1/N: 0.5];

>> psd=zeros(1l, N);

>> for k=1:100

x=randn(1, N);

psd=psd+2*abs(fft(x)) . 2/N;

if k==
subplot(3, 1, 1), plot(fn, 10*loglO(psd(l: length(fn))/k));
ylabel (’averaging=1, [dB]’);

elseif k==10
subplot(3, 1, 2), plot(fn, 10%*loglO(psd(1l: length(fn))/k));
ylabel (’averaging=10, [dB]’);

elseif k==100
subplot(3, 1, 3), plot(fn, 10*loglO(psd(l: length(fn))/k));
ylabel (’averaging=100, [dB]’);
xlabel(’normalized frequency’);
z=psd(1l: length(fn))/k;

end

end

>> sum(z) /N
ans =1.0007

>> sum(x."2)/N

ans =1.0069
20
g w0
vl—l’ 0 l\ A
5
& -0
g
© 20 | | | | | | | | |
0 0.05 0.1 0.15 0.2 0.25 0.3 0.35 0.4 0.45 0.5
20
g 10l .
S BN A M i At e o My g b,
L0
=
@ -10 B
&
>
© _20 Il Il Il Il Il | | | |
0 0.05 0.1 0.15 0.2 0.25 0.3 0.35 0.4 0.45 0.5
20
g ot |
I=3 WWAWWWWWWWWMWWWMMWMNWW
S o0r B
é’
w =10 b
«©
B
= -20 I I I I I I I I I
0 0.05 0.1 0.15 0.2 0.25 0.3 0.35 0.4 0.45 0.5
normalized frequency
004.6.1
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47 UJO0ooooooad

input =
TS
X[N—> mm 27

0420000000000000O

0420000000000000000000000O
bobooboobooooboooobooboooo

ﬂﬂ={1(n:m
0 (n#0)

gbooobooobooboobobboobooboo

1. x[n]000000 én 00000

2. 000000 u[r)00000

3.46n000000000000000AKO00000 yr OO0

yin] = k_i x[kJhn — K

4. 000000 000000 c[n
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(4.39)
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(4.41)
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471 DOOOOOOOOOOOOOO

~

gboooooobooboboooboobooboboboooooobOoboobooooooboobooboon

goo .
yln] = glx[n] +x[n —1] + x[n - 2]]
N /
4 N
472 0O0000D0O0O0O0OO0OO0OO0OO0OOOODOODODODOOOOOO
oobobobooboooboobooboobon
y[n] = 3x[n] + 2x[n — 3] — 3x[n — 5]
goooood
x[n] = =36[n — 1] 4+ 26[n — 3]
0000000000 ykrDOOOO
N /
48 z0OO
48,1 zUOOOO zOO
04300z000000000000
x[n] h[n] yln]
—>> —
X(z) H(z) 1(2)
043: 0000000000000
000 zOO (ZT: Z Transform)d 0 z 0 O (IZT: Inverse Z Transform) 0 0 0 0 0 O
x[n] 000000000000
x[n]gX(z)
x[n] & X(2)
(4.43)
gogd
X(z)=Y x[nz" (4.44)
_L n—1
[n]_?_m']{X(Z)Z dz (4.45)
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482 [OD0O0OzOOOOOOOOO
gbooboobooboozoOobOoOooobOOoOoooooDbo

x[n] = —a"u[-n —1]

(4.46)
0000u[# 0000000000000

J
DDDDDDDDDSDDDDDD(s:iw)DDI:ID[IDDDDDDDDDDDDDDDDDz:ei‘”DDD

Oo0o0oDoobozODOOOOOOD zOOOOODOOOOOODDOOOOO 420000000000
zOOOOOOOOOOOoOOOooOOooOooo

042:z00
x[n] \ X(z) \ oooo
8[n] 1 20000
o[n — mj z= M z0OODO
uln] 1,1271 |z] > 1
a"uln] F:ﬁ 2| > |a
— T
cos(won)uln| 1_21&2?2](;‘)12),21“,2 |z| > 1
: =
sin(won)u[n] 172512((5(?));_42_2 lz| > 1
483 zOOOOO
Jdd zOOODODDODOOOoOoOoooooooa
043:.z00000000
x[n] X(z)
x[n — m| z7"X(z)
x[—n] X(})
x1[n] * x[n] X1(z) X5 (z)
nx|n] —zd);gz)

484 0D0O0OOOOOOODOOO

00000000 AKX ODO0D0000D0D0000000000 xn)|000 yxOODDOOODOO0OO0OOOO
ooooo

y[n] = hin] x x[n] (4.47)
gboo0zoboooOooDoooooooboooobao

(4.48)
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0000000 H(z)OODOOoODOoooooooo

H(z) = i h[k]z =% (4.49)

k=—0o0

uooooooo '
000z=¢¥“000 HEEY)OODODOODOODODODODOODODOODOOODOOODOOOO

\
485 U0O0O0OO0OOOOOOOO

00471000000000000000D000O0

J
\
48.6 LUOLOUOUOOObODOOOOLOOOO

00000000000000000D0000000 x# 000 yeOODODOODODOODDOODOOO
goo

142271 272

H —
() = 10821 1 06422
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48.7 MATLABOOOOOODOOODOO

gbooooboooooboooooooon

1 142zt

Hz) =g 06

>> h = t£(0.2%[1, 1], [1, -.6], 0.1)

Transfer function:
0.2z + 0.2

z - 0.6
gooooooo: o.1

>> bode(h) ;

Bode Diagram

Magnitude (dB)

Phase (deg)

90 k I I
1 0 1
10 10 10

Frequency (rad/sec)

00487
N )

49 JO0doooobod

gbooooboobobobobooooboooobooboboooooooboboboboooobooobooonoo
goboobooboobooobooboobboobbooboobooboboobobooobOooboon
gooboobooboobboobooboobboobooboobobooooboobbobobooboon
gbooaod

49,1 FIRODUOOOOONROOOOO
ocooooooooobooooDbo 2000000000 00DO0O004710000000000O

[x[n] + x[n — 1] + x[n — 2]]

W=

y[n] =
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00o0o00o0o0O00o000000000000000000000000O00000O00000000
000000000000000000000000000000 FIR(Finite impulse response) 0 00 OO
000000000000 0000000

H(z) =by+biz 14+ bz " (4.50)
0D00000000000000O0
y[n] = y[n —1] +x[n]
gooboooogooooooobooooboooooooooooboooobooooboooooooooo

O000000000000000000000 OR(nfinite impulse response) 1000000000000
O000oooooooo

Cbotbiz i bz

H(z) = 4.51
2) 1+aiz71+- - +apz™ (4:51)
\
49.2 MATLABOOOOOOOOOOOOOOOOOOO
h(0)=h(1)=h(2)=1/300000000000000000000000000O0
>> x=randn(20, 1);
>> h=[1, 1, 11/3;
>> y=conv(h, x);
>> subplot(2, 2, 1), stem(x)
>> xlabel(’n’, ’fontsize’, 14)
>> ylabel (’input’, ’fontsize’, 14)
>> subplot(2, 2, 2), stem(y)
>> xlabel(’n’, ’fontsize’, 14)
>> ylabel (’output’, ’fontsize’, 14)
2 1.5
1
1
o Lo ILIL 1 9IS g 09 TTT
3 5 = T
g [ 71 g o Illle Sllille,
5] $é i i ioo
-1
-0.5
-2 -1
0 5 10 15 20 0 5 10 15 20 25
n n
00492
N )
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493 MATLABOODOOOOODOOODOODOOOO

gbooooboobooboboooobooooobooooon

1
H(z) = ———
(2) 1-09z"1
>> impulse=[1; zeros(29, 1)];
>> anu=1; den=[1, -0.9];
>> y=filter(anu, den, impulse);
>> stem(y)
>> xlabel(’n’, ’fontsize’, 14)
>> ylabel(’impulse response’, ’fontsize’, 14)
1
0.9
0.8 ¢
©
0.7
&
gOAG’ ®
1 ®
805
04
203 ]
E
0.2 b
154002
0 f7999¢
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494 0O0O0O00ODOOODODODOOMUDOOOODODOOO
0440000000000000000O0DOOOOODDOOOOO

goooogoood

oooooooon

x/n/

yin]

+
+

044000000

>

71

gboooobooooog
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49.5 MATLABUOOOOOOODOO

>> den=[1, -1]; anu=1;
>> [h1, wl=freqz(anu, den, 512, 2);
>> plot(w, abs(hl))

>> xlabel(’normalized frequency’, ’fontsize’, 14)

>> ylabel(’integrator’, ’fontsize’, 14)

integrator

. . . . . . . .
0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
normalized frequency

00495

\_

496 O0O0O0ODOOOODODOOO@UDOOOODOOO

045000000000000000000000O0DDOOOOO

x/n/ vln]

71

045 0000000000C00O00O00ODOOOO

ooooboooono

gboooooogo

OO0O0000FROODOOOOOOOOOOOOOOODODOOODOOD
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49.7 MATLABOOOOOOOOODO

>> anu=[1, -1]; den=1;
>> [h2, w]l=freqz(anu, den, 512, 2);
>> plot(w, abs(h2))

>> xlabel(’normalized frequency’, ’fontsize’, 14)

>> ylabel(’differentiator’, ’fontsize’, 14)

differentiator

. . . . . . . . .
0 0.1 0.2 0.3 0.4 0.5 0.6 0.1 0.8 0.9 1
normalized frequency

00497
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498 O000O0O0OOCOOOOOOGOmMO CombOOOOO
04600m0O Comb00O00000000O000O0O000O0O00O0OOO

x/n] ylnJ]

Z—m

OD46m0O CombO0O0OO0OO0ODOODODODODODOOOOO

gboooboooog

ooooooogo
H(z)=1-z"

ooboOoobFIROO0OO0O0O0O0O0O0O0DO0ODOOO0OO0O0ODO0OODOoOoLOOOobOO00oDOoOoDOODO
uboabuooboooboobobooboaoboobooboobobboobod
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499 MATLABO5S50 CombOODODOOOODOODOO

>> anu=[1, 0, 0, 0, 0, -1]; den=1;
>> [h3, wl=freqz(anu, den, 512, 2);
>> plot(w, abs(h3))

>> xlabel(’normalized frequency’, ’fontsize’, 14)

>> ylabel (’5th comb filter’, ’fontsize’, 14)

5th comb filter

. . .
0 0.1 0.2 0.3 0.4 0.5 0.6 0.1 0.8 0.9 1
normalized frequency

00499

53




